Just to give you a sense of the code (One note, in research people usually do not write production
ready code, at least for the first iteration)

Exploratory Analysis:

# Other target variables: Dialysis patients: T

In [1]: # For plotting, import libraries

from matplotlib import pyplot as plt
import matplotlib

import seaborn as sns

fmatplotlib inline

In [2]: import warnings
warnings.filterwarnings('ignore')

QISINDUIEQ 1O BACn age nen 100K averdage using age groups

In [1l]: # data exploration
import pandas as pd
#df = pd.read csv( 'mortality recom added grou
df = pd.read _csv('older version_as submitted_
df.head()

From: To:

' to Gend Recommended Recommended

age from age lo er Vegetable Vegetable
Intake Intake

0 0 4 Meutral 168.750 210.0

1 5 89 Meutral 280.625 390.0
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1: df.describe()

]:
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Quantitative

just one example.
You could check interval, distribution, Null/Alternative Hypothesis, Chi-Square, p value
based tests

From: To:
Recommended Recommended Actual From:
age_from age to Vegetable vegetables recommended_low Vegetable vegetables recommended high Vegetable Recommended protein |
a9 g Intake  Protein Intake
Intake Intake
count 18.000000 18.000000 18.000000 19.000000 18.000000 18.000000  18.000000 18.00000
mean 38.833333 42.555556 445312500 349.342108 481.666667 483.333333  213.050000 T56.87500
std 25.011174 25.270821 102.643428 71.864273 76.162558 T4.877351 45107202 147.49891
min  0.000000  4.000000 168.750000 150.000000 210.000000 225.000000 113.080000 270.00000
25% 19.000000 21.750000 421.875000 337.500000 487.500000 487.500000 193.067500 T87.50000
50% 37.500000 41.500000 431.250000 337.500000 491.250000 506.250000 227.645000 787.50000
75% 58.750000 62.750000 515.625000 412.500000 525.000000 525.000000 244740000 825.00000
max 80.000000 84.000000 618.750000 412.500000 525.000000 525.000000 255.560000 862.50000
U 1 1 t
df9.plot.bar();
# plt.xlabel('Age Groups (from)')
# plt.ylabel( 'Amount in Gms')
plt.xticks(range(len(df['age to'])), df[ 'age from']);
plt.xlabel('Age group: From\n Colors do not mean anything, just the different column')
plt.ylabel('Intake amount in gms')
Out[B]: Text(0,0.5, Intake amount in gms')
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dfg.plot.line(
df9.plot.line(
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# plt.xlabel('Age Groups (from)')
# plt.ylabel( 'Amount in Gms')

plt.xticks(range(len(df['age to'])), df['age from']});
plt.xlabel('Age group: From')
plt.ylabel('Intake amount in gms")

9]

Text(0,0.5, 'Intake amount in gms')
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df8.plot.area();
df9.plot.areaf();

plt.xticks(range(len(df[ 'age_to'1)), df['age from']);
plt.xlabel( 'Age group: From')
plt.ylabel('Intake amount in gms®)

]: Text(0,0.5, 'Intake amount in gms')
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800 - df9.plot.hist();
#plt.xlabel( "Age Groups (from) ')

£aa - #plt.ylabel( 'Amount in Gms')

| #plt.xticks(range(len(df| 'age to'
400 - ] plt.xlabel( 'Intake/Recommended da

200 - Out[1ll]: Text(0.5,0,'Intake/Recommended da
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df88.plot.box();
#df99.plot.box();
plt.xticks(range(l, len{df88.columns)+1),dfB8.columns,rotation=9(

#plt.xlabel( 'Age Groups (from) ')
plt.ylabel( 'Amount in Gms')

#plt.xticks(range(len(dff ‘age to'}])), dff 'age from']};:

]: Text(0,0.5, amount in Gms")
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From: Recommended Vegetable Intake Te: Recommended Vegetable Intake

Regression with all Variables/Features

corr = df.corr()

sns.heatmap(corr,
=xticklabels = corr.columns.values,
yticklabels = corr.columns.values,
annot = True);

plt.suptitle( 'Heatmap, Correlation All Variables');

Heatmap, Correlation All Vanables

age_from - NN AN O 16 0380047 043 0.290. 18 0.43-0 25047 0.42-0.6 : . 2 IR 0.B50.8809
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From: Recommended Vegetable Intake (LN 1 09108 0910.840.860.9580.870.770.76 0.7 .84 0.83 1 E00 R0 130.1540.1
To: Recommended Vegetable Intake {EEUERND9]1 1 0660.950.980.860.940.980.750950.92 .950. EX0. k=D 046.0350.1

Actual Vegetable Intake -0810810 5066 1 07500650 7200580066 s 065059
From: Recommended Protein Intake 29091098075 1 0960.890930980670920.861
To: Recommended Protein Intake (EEIE¥ 084 0980065096 1 0.820.870.990.690.980.95
Actual Protein Intake {UeRlPR0 86 086072089082 1 0890.840.770.770.71X
From: Recommended Grain Intake (LIS 098 0.9400580.93 087089 1 0.9 0.81 0.8 0.76,
To: Recommended Grain Intake BEEUE¥0.87 0.9800660.98 099084 0.9 1 068095 0.9
Actual Grain Intake

From: Recommended Dairy Intake 46 URE 0920 .22 LE0.160150.2



corr = df.corxr()
sns.heatmap(corr,
xticklabels corr.columns.values,
yticklabels = corr.columns.values,
annot = True);
plt.suptitle('Heatmap, Correlation Actual Intake Amounts Only');

]

Heatmap, Correlation Actual Intake Amounts Only
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Actual Dairy Intake 3 0.3 0 0 041
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Bivariate Exploratory

1]: | # on actual amounts
#plt.figure(figsize=(16, 300})
sns.pairplot(df_actual, vars=df_ actual.columns, size=5, kind='req');
plt.title('Bivariate Plot, All Actual Taken Variables, Total ESRD targ
plt.savefig('../../progress reports/to submit/pca univariate bivariate
plt.show()




: sns.pairplot(df_normalized diff, vars=df normalized diff.ceclumns, size=5, kind='reg', as]
plt.suptitle('Bivariate : Diff : Food Group: Normalized\n')
plt.ylabel( 'Difference in Intake amount from Recommended : Normalized')
plt.xlabel( 'Intakes')
plt.savefig('../../progress_reports/to_submit/pca_univariate bivariate/bivariate diff norm
plt.show()
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